+
HH
o

w
1

1:1000

EJE A=5,052.8m2. R[E A=5, 052. 8m2

B ERBEEAT (1) A=1,413. Tm2

B ERRAEEAT (2) A=3, 639. Tm2

R EE M E X

$=1:100

No. 0+5. 8~No. 1+9. 4
No. 1+23. 9~No. 4+32. 0

7900~8550

AR XER (2)
HE EHR W=15em N

RE FHETRIY (20) YE (T) 2, 350kg/m3 t=5em
AsZL7| (PKR-T)

HE BAAETAIY (20) 2, 350ke/m3 t=bcm
As%L#| (PK-3)

BREREELET (1) tAPRELIE 2 100ke/m3 BEFESt=16cm

R EE M E X

5 K

$S=1:100

No. 4+32. 0~No. 15+39. 0

ARARER (1) \ ARARER (1)
B xR l-5m /"Bf %8 Wb
2.00 2.00
UaS . ———————— ot
RE EHETAIY(20) %HE (1) 2, 350ke/m3 t=5cm N | < <
B BT (20) 2, 350kg/m3 t=5om jfﬁlzﬁ + N5 (250= T =1000)
B LB AT (1) bV R (SEMHIE) 2. 100ke/nd t=160m BXEfCBR :8
B o= No. 0+5. 8 No. 1 No. 1+2.0 No.1+9.4 | No.1+23.9
g & (m) 8.55 8.15 8.15 8.20 7.90
b=t No. 2 No. 2+20.0 No. 3 No. 4 No. 4+32.0
g8 (m) 8.20 8.20 8.25 8.25 8.20

AT FREMEH - REMHE -2 5-2-1 -SIRE&LLL)

S=1:10

RIE FHIETAIY (20) 3 E () 2, 350kg/m3 t=bcm

AsZLF| (PKR-T)

HE BERAETA (20) 2, 350ke/m3 t=5cm

AsZLF| (PK-3)
B ERBBEAET (2) tiHNEFRELIE 2, 100kg/m3 EEZFR S t=16cm

8000~8200
BRARKER (2)
#HE RER W=15em O\
SRR ER (1) ‘ SRR ER (1)
B = W=15cm w
20 N 20
A& : 1, 370kg/100m2 ‘
RIE FHETAI (20) HHE (1) 2,350ke/m3 t=5cm e -t <
R FEMBAETAIY (20) 2, 350ke/m3 t=5cm :ﬁ’élzﬁ - N5 (250= T =1000)
BEBEEAT () b NEE REAME (SEMHIE) 2, 100ke/nd t=160n BXEfCBR :6
b/ =1 No. 4+32.0 No.5 No. 6 No. 7 No. 7+20.0
& (m) 8.20 8.10 8.20 8.20 8.00
b/ =1 No. 8 No. 9 No. 10 No. 11 No. 12
& (m) 8.20 8.15 8.00 8.15 8.20
Al & | No.12+20.0 No. 13 No. 14 No. 15 No. 15+39. 0
& & (m) 8.10 8.20 8.15 8.20 8.00

Ay FREEH  REMFHIE Q-39 5-2-n -SIRZF&LU L)  HE : 860ke/100m2
TRAI7ILREE N1 (242 MRBEY YA VILA)  FHIIE : 1, 730L/100m2

XAREIEA 1A XERTET B,

SH4FEBEERE 15
T F B amrosmunas @ IF
BIERSA EMPARETHA

HEOER FEER - RERER - THER

P R| = |@$%'| V4

=

TREAE REISEBF




X B # F @
S=1:1000
Z
® M OE I E
ARMSEEG (1) : TEHSMEE] (B8 =46 W=15cm) L=603.2m + 564.2n, AMKKER () : [E@Hhag] (E6 £ W=15cm) L=609. 6m
BEARER ) : S AR KER Q) © [I0Av-1) R RER 5) -
‘ (B 75 W=45cm) L=3.8m (B8 X - XF - 522 W=15cmia®) L=5. Tnx 267F

AR X ELR 6)

3540

(E® XM - XF - i85 W=15cmi %) L=19.8m

325740

(BE XH - XF - ;85 W=15cmit %) L=19.8m

5

=

H

3

3

B

)
‘ ERMAEES (4) : (9037 ‘ EREEKER () : [90Rv-))
(B XM - X7T - 25 W-15omiR@) L5 m (H& & - XF - 25 W-15omR®) L5 In

‘ ERARERG) | [XF40)
(&® XA - XF - 125 W-15cmR) =19 m

XAREIEA 1A XERTET S

T = % HH4 FEMEHHEE 1S

PEF2 0SREBUR (HH) I

EIER A W FARHET# A
HEDER

i

XERFER

R | 1:1000 |E$%‘| 24

- 2w R B S
¥R A REIEEBF




1 2% X T80 % F T X

$=1:1000

;7%,92
" M E I

ANAMERERR (1) - THhRiR) (EE =R W=15cm) L=609. 6m

NAVMKRERR (2) 0 TEEER]

‘ (B =8 W=45cm) L=3.8m

XAREIEA 1A XERTET B,

HH4 FEMEHHEE 1S

T F B amrosmunas @ IF

HEIER A BT FARHET# A

EoFs £+:) RBEXERFER

m  R| 1000 |mmEs| 04

=

R A REIEEBF




